
Section 6.1 answers 

1a)  (𝑓 ∘ 𝑔)(𝑥)  = 6x+24   1b)  domain (−∞, ∞)  

1c)  (𝑔 ∘ 𝑓)(𝑥)   = 6x-2   1d)  domain (−∞, ∞)  

3a)   (𝑓 ∘ 𝑔)(𝑥)  = 3(3x2 – 8x + 7) 3b)  domain (−∞, ∞) 

3c)  (𝑔 ∘ 𝑓)(𝑥)   = 3x2 + 11  3d)  domain (−∞, ∞) 

5a)  (𝑓 ∘ 𝑔)(𝑥)  = x2 + 2x – 5   5b)  domain (−∞, ∞) 

5c)  (𝑔 ∘ 𝑓)(𝑥) = x2 – 6x + 7  5d)  domain (−∞, ∞) 

7a)  (𝑓 ∘ 𝑔)(𝑥)   = 
2(𝑥−7)

4𝑥−25
 

7b)  domain of (𝑓 ∘ 𝑔)(𝑥)  is all real numbers except 7 and 25/4. 

7c)  (𝑔 ∘ 𝑓)(𝑥) =
3(𝑥+4)

−7𝑥−26
 

7d)  domain of (𝑔 ∘ 𝑓)(𝑥) is all real numbers except -4 and -26/7 

9a)  (𝑓 ∘ 𝑔)(𝑥)    = 
𝑥

−3𝑥+1
 

9b)  :  domain of (𝑓 ∘ 𝑔)(𝑥)    is all real numbers except 0 and 1/3 

9c)  (𝑔 ∘ 𝑓)(𝑥) =x-3 

9d)  domain of (𝑔 ∘ 𝑓)(𝑥)  is all real numbers except 3 

11a)  show (𝑓 ∘ 𝑔)(𝑥)    =   x 

 

(𝑓 ∘ 𝑔)(𝑥)    =f(g(x)) 

(𝑓 ∘ 𝑔)(𝑥)   = 7(𝑔(𝑥)) + 1 

 

(𝑓 ∘ 𝑔)(𝑥)   = 7 (
𝑥−1

7
) + 1 

= x – 1 + 1 

= x 

11b) show (𝑔 ∘ 𝑓)(𝑥)     = x 

 

(𝑔 ∘ 𝑓)(𝑥)     = g(f(x)) 

 

(𝑔 ∘ 𝑓)(𝑥)    
𝑔(𝑥)−1

7
  

 

 (𝑔 ∘ 𝑓)(𝑥) =
(7𝑥+1)−1

7
 = 

7𝑥+1−1

7
 = 

7𝑥

𝑥
 = x 

 

13a) show  (𝑓 ∘ 𝑔)(𝑥)    =   x 

 

(𝑓 ∘ 𝑔)(𝑥)   = 
𝑔(𝑥)−5

2
 

 

(𝑓 ∘ 𝑔)(𝑥)   = 
2𝑥+5−5

2
 = 

2𝑥

2
 = x 

13b)   𝑠ℎ𝑜𝑤 (𝑔 ∘ 𝑓)(𝑥)     = x 

 

(𝑔 ∘ 𝑓)(𝑥)     =  2(𝑓(𝑥)) + 5 

 

(𝑔 ∘ 𝑓)(𝑥)     =  2 (
𝑥−5

2
) + 5 = x-5+5 = x 

 


